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General Instructions :
Read the following instructions carefully and follow them :

(1)
(ii)
(iii)
(iv)
(v)
(vi)
(vii)
(viii)

(ix)

This question paper contains 34 questions. All questions are compulsory.

This question paper contains two sections :

Section A — Macro Economics

Section B - Indian Economic Development

This question paper contains 20 Multiple Choice type questions. Each question
carries 1 mark.

This question paper contains 4 Short Answer Type-I questions. Each question
carries 3 marks. Answer these questions in 60 to 80 words.

This question paper contains 6 Short Answer Type-1I questions. Each question
carries 4 marks. Answer these questions in 80 to 100 words.

This question paper contains 4 Long Answer type questions. Each question
carries 6 marks. Answer these questions in 100 to 150 words.

Attempt all parts of a question together.

In addition to this, note that a separate question has been provided for Visually
Impaired candidates in lieu of questions having visual inputs, map etc. Such
questions are to be attempted by Visually Impaired candidates only.

There is no overall choice in the question paper. However, an internal choice
has been provided in few questions. Only one of the choices in such questions
has to be attempted.

SECTION A
Macro Economics

Read the following statements carefully : 1

Statement 1 : A consumption function describes the relationship
between consumption and savings.

Statement 2 : Consumption function consists of two components —
autonomous consumption and induced consumption.

In the light of the given statements, choose the correct alternative from

the following :

(A) Statement 1 is true and Statement 2 is false.

(B) Statement 1 is false and Statement 2 is true.

(C)  Both Statements 1 and 2 are true.

(D) Both Statements 1 and 2 are false.

Identify which of the following is not one of the merits of fixed exchange
rate system. 1
(A)  Ensures stability in exchange rate

(B)  Possibility of under or over valuation of foreign currency

(C)  Prevents speculations in foreign exchange market

(D)  Coordination of macroeconomic policies becomes convenient

12-58/2/1 P.T..
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LCIG1
|
|
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aegHAi | | R
TR WA
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(C) gl =w (D) «Ted gl
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HI71 : Tohell TS 1 SA(UH &F I Yol HHT Th & 8d 3 |
FY72 ; WA H N e, urd & omfie & o fewm 7 |
feu U FeAt & It ®, F=faRgd # @ @& famew w1 =wm il
(A) HIT 19T 3 3N HYF 2 30A 7 |

B) HIT 1ITATLIMFF 2T 2 |

(C) YT 13M 2N T2 |

(D) YA 13 2 THI M 7 |
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3. Identify which of the following will appear on the debit side in the
Capital Account of India’s Balance of Payments. 1

(A) An Indian sending remittances from England
(B) Investing in assets abroad by Indians
(C) An American company purchasing shares of an Indian company

(D)  Export of spices from India

4., Study the following figure carefully and choose the correct alternative to
fill in the blank : 1
Balance of
Payments
Account
|
| 1
Current Capital
Account Account
|
Trade in Transfer
merchandise Payments
Alternatives :
(A) Investments (B) Trade of Services
(C) External Borrowings (D) External Assistance
5. Read the following statements carefully : 1

Statement 1: Economic territory and political frontier of a nation are
one and the same thing.

Statement 2 : American Embassy in India is a part of the economic
territory of India.

In the light of the given statements, choose the correct alternative from
the following :

(A) Statement 1 is true and statement 2 is false.
(B) Statement 1 is false and statement 2 is true.
(C) Both statements 1 and 2 are true.
(D) Both statements 1 and 2 are false.

12-58/2/1 P.T..
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6. THMIRGd AT T LAFYAh FEIAT hHIIT 1
Fo7 1 : gl 98 9%] 8, 16 ATERUGAT 0T % 719w o €9 § ThR R
ST 2 |

HIT2 : G+ SATALIHATN oh Grad TANT hl THET i A a1 o |

feu U seEl % A H, faiad # ¥ wE) faesed w1 =e hHifv
(A)  HIYT 19T g 3 HF 2 3 3 |

(B) I 13EI N FAT2TT 2 |
(C) e 13X 22H 9T & |
(D) ST 13X 23T 36T 2§ |

7. UH AIfGU fF T wreufe redfegaeen #, TRR UM = T 500 HUS qAT

w7 3N Ygfd = 0-8 7 | A1 1efaeen & fofv s=1d ha B |
(T=h T 9 & fou Tl ooy &1 =@ difv) 1

(A) 500+ 0-8Y (B) (=) 500 + 0-8Y

(C) 500+ 0-2Y (D) (=) 500 + 0-2Y

8. f=fafga sumt &1 srerm Hifv : arfiepem (A) 3tk &R (R) | = fgu g
faehedl o @ =&l fashed FHT 1
SfYFT (A) : HHTa s=d STgRT (MPS) 1 3TUeha¥ Jod $h1s &l Tohdl o |
PRU(R) : AT o HHER W, T I 8 8 |
foerey
(A) ANHAT (A) IR BRI (R) GHI T & AR HR (R), THHAT (A) hl

& AT HLT 8 |

(B) AR (A) IR ST (R) Al TcT 8, Afhd RO (R), AMTHAT (A)
1 &l AT FgT a1 B |

(C) IR (A) T B, Wihd RO (R) I8 3 |
(D) 3R (A) T 7, Afehd I (R) T 3 |
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6. Read the following statements carefully : 1

Statement 1: Money is a commodity which is generally accepted as a
medium of exchange.

Statement 2 : Money solved the problem of double coincidence of wants.

In the light of the given statements, choose the correct alternative from
the following :

(A) Statement 1 is true and statement 2 is false.
(B)  Statement 1 is false and statement 2 is true.
(C) Both statements 1 and 2 are true.
(D)  Both statements 1 and 2 are false.

7. Suppose in an imaginary economy, autonomous consumption = ¥ 500 crore

and marginal propensity to consume = 0-8. The saving function for the

economy would be

(Choose the correct alternative to fill in the blank) 1

(A) 500 + 0-8Y (B) (=) 500 + 0-8Y
(C) 500+ 0-2Y (D) (=) 500 + 0-2Y

8. Read the following statements : Assertion (A) and Reason (R). Choose the

correct alternative from those given below : 1

Assertion (A) : The maximum value of Marginal Propensity to Save
(MPS) can be unity.

Reason (R): At the break-even level of income, savings are zero.

Alternatives :

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of Assertion (A).

(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not
the correct explanation of Assertion (A).

(C)  Assertion (A) is true, but Reason (R) is false.
(D)  Assertion (A) is false, but Reason (R) is true.
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9. g ARf¥A IIUT (CRR) & Hed T, 7@ HI 6l UgaH HIfT 1

(A) I8 HIT 9 TEiY ST SHETEl ol Ueh (Hfvaa gfded g8, 9 g a6 &
HgT S o T Tohe YR (M) T4 § T B 7 |

(B) I ¥ deh g THyifa fomam Smar @ |

IfSrep Sepl 9T STEThI] 81 BldT 2 |

K=Y

(C) 3FJ@dl

(D) I8 el o g AT H dr@ FHHIU i FIGE i § Tg® T
39 BIAT & |

10. ffafga swemt =1 dfeu : arfishem (A) 3R+ (R) | = few 1 foeheat ®
T Tgt fasew gfw . 1
fFYT (A) : AW H Ggad TR q9 (giid gar 3, 99 Y[ = g
TR 3cdTe Toh-GER o IR M & |

HRU(R) : T Wl Hgad TR, Icd1ed o qo1 YSTR T o TU AT STEHM
Bl EHhT B |

(A) AMTHAT (A) 3T SO (R) A TF & T SR (R), TURAT (A) HI
gl SIS hdl 2 |

(B) 3T (A) 3T RO (R) THI T &, Afhd HRUT (R), JNHAT (A)
1 TE AT 7T BT B |

(C) IR (A) T B, Wihd RO (R) I8 3 |

(D) 3R (A) T B, Afehd IO (R) T 3 |
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9. Identify the incorrect statement with reference to Cash Reserve Ratio
(CRR) :
(A) It is a certain percentage of demand and time deposit liabilities
that every bank must keep as cash reserves with the Central
Bank.
(B) It is fixed by the Central Bank.
(C) It is not binding on the commercial banks.
(D) It is a tool used by the Central Bank to control the credit creation
in the economy.
10. Read the following statements : Assertion (A) and Reason (R). Choose the
correct alternative from those given below :

Assertion (A) : The equilibrium level of income is determined, when

ex-ante spending and ex-ante output are equal.

Reason (R): The equilibrium level of income may or may not be the

same as the full employment level of output.

Alternatives :

(A)

(B)

(C)

(D)

12-58/2/1

Both Assertion (A) and Reason (R) are true and Reason (R) is the

correct explanation of Assertion (A).

Both Assertion (A) and Reason (R) are true, but Reason (R) is not

the correct explanation of Assertion (A).
Assertion (A) is true, but Reason (R) is false.

Assertion (A) is false, but Reason (R) is true.
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Jrora
(@) “Hg1 1 qoagrE fopet Tsg o 37 ol AicdTied o Hehal & |
= dehi o A1 U MU o w1 Gud A1 WA HIif | 3
12. = fu MU SRSl & SMYUR W, 1Y AN W Fehal TSI 3G (GNPpe) &
Hed I e hIT : 3
e i (¥ g@' 7)
(i) A9l & oA 2,000
(ii) foptr 9 &S 700
(iii) e 500
(iv) AN &Y 300
(v) feor gSft 1 3awm 200
(vi) ATHTR 150
(vii) | facsn @ ured 3g Wied o™ (=) 50

13. T shicqeh degaeen & fiu, I8 9F «fifSe ff @R T 10,000 U i
giard) giamra Faw wuft | sreferawen § sifdfth 31 1 80% 3w BT B |
Aferaedt H A H glg A Iqeh NIEY IUATT = H Fhg H1 HTeheH
HIT | 4

14. (%) “afg gof TR T W, ifom aeqent i awdfas @i Afaw aegett &
qfIeh 3CATe & A B, A1 399 HIaEE! (Inventory) 1 3UTEd =™
B HhaT 8 |7

7 379 feU 70 HIH @ TgHd g ? 39 ST ok gudd § HI hRu AT | 4

AT
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11. (a) “Accommodating transactions are undertaken to maintain stability
in the Balance of Payments Account.”

Justify the given statement with valid explanation. 3
OR
(b)  “Depreciation of currency may promote exports of a nation.”

Defend or refute the given statement with valid arguments. 3

12. On the basis of the data given below, estimate the value of Gross

National Product at Factor Cost (GNPg() : 3
S.No. Items Amount
(in < crore)
i) Wages and Salaries 2,000
(ii) Rent and Interest 700
(iii) Corporate Tax 500
(iv) Undistributed Profit 300
(v) Consumption of Fixed Capital 200
(vi) Dividend 150
(vii) Net factor income from abroad (=) 50

13. For a hypothetical economy, assume the government increased an
infrastructural investment by ¥ 10,000 crore. 80% of additional income is
consumed in the economy. Estimate the increase in income and the

corresponding increase in consumption expenditure in the economy. 4

14. (a) “If actual demand for final goods falls short of the actual output of
final goods corresponding to full employment level, it may lead to

an unintended accumulation of inventories.”

Do you agree with the given statement ? Give valid reasons in

support of your answer. 4

OR

12-58/2/1 Page 11 P.T.O.
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(@) fm=faRea arferst @t qU AT | 3™ % T 200 S H TR TR 3990
%ol &l fmior Hifse | 4
37 (Y) T (S) 31GT ITYIT Fghi | HHIT FFT IFIT
(FHIsH)| (T HIsH) (APC) (MPS)
0 (-) 50 - -

100 | e 1

200 | e 34 | e,

300 | e 27 J O

15. W fiFd o TR & dfohT TiFed o Ja9 ol Hgwqul Sl il 3 |

YR fid o g foht, T 39tk il <l ==l il | 4
16. (%) (1) IR TAF B T AU L oh HEY I T8 T | 3
(i) EHH T o I o YAGAUT g3 hl SATEAT hITT | 3
arerat
(@) () uE A o e wreufe rderewr & fou afafea siee
wega fepe Tw g 4
: : T
7.4, = (¢ # 7)
(i) Ez@uitell 1,200
(ii) o =99 3,700
(iii) prdcagte 2,000
(iv) U7 Shl THA 145
(v) ISHTd = 500
(vi) IEIECH 120
(vii) SIS 1 A 1,070
TS =1 I TSN |1 shl TTUHT <hIfT |
(i)  GrSi-eh TG AT GlasT-eh IcdTed H 3Tt TI hIFT | 2
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Complete the following table. Construct the consumption function

at T 200 crore level of income.

Income (Y) | Savings (S) | Average Propensity Marginal
(in < crore) | (in Tcrore) | to Consume (APC) | Propensity to Save
(MPS)
0 (=) 50 — —
100 | ...l 1
200 | ...l 34 |
300 | ...l 213 |
15. Reserve Bank of India undertakes the important function of managing
the government’s banking transactions.
Discuss the above stated function performed by the Reserve Bank of
India. 4
16. (a) (1) Distinguish between direct tax and indirect tax with the
help of suitable examples. 3
(ii)  Explain the ‘redistribution of income’ objective of the
Government Budget. 3
OR
(b) @) Suppose the following data is presented for an imaginary
economy : 4
S.No. Items Amount
(in < Crore)
(1) Tax Receipts 1,200
(i1) Revenue Expenditure 3,700
(iii) Non-Tax Receipts 2,000
(iv) Recovery of Loans 145
(v) Capital Expenditure 500
(vi) Disinvestment 120
(vii) Interest Payments 1,070
Calculate Revenue Deficit and Fiscal Deficit.
(ii)  Differentiate between public provision and public
production. 2
12-58/2/1 Page 13 P.T.O.
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g TSI 3T T ATehai ohid WY 3o &H W el W@ 91dl g | AAEd 3
STRIATY shad & dT I STeIdid HehRIcHeh 37T TehIcHe &l Tohdl & |

39 HeY H, Ty TTEA Uiy Aqead gHTad & % folg shieH
TeI-FaRuT 1 T AgqUl 3T o €4 H IUAN i I GIE od & |

Ha Jod-HaRoT A1t Icasi W ooh TR I hH e W dfedet
Tt MBI NE IcdsH bl I 1 <hl Il shidm 8 | shred &, U9 99,

Fh! o, 3TME S TTEET o AIEqH ¥ ITAMEAT 39 YhR hl FhRIcHS STEIdlsti
I TUT - Tt GHA qobrieh shl A JTUE B T FoId ¢ & |

feu 7w e qun AT TWE o snuR R, Feffaa g & s S

(i)  STerarsTi s aReTia Hif | 1
(i)  HhRIcHS o ThIIcHh STRIAIST o HET 3T T HiT | 2
(iii) foeaR @ SaEy fob HeA gea-gRer o Y g R AedTted fhar [T
1R | 3
Qs @
WA 3rfeler farerma
18. fofew &= & <A, 9 & foesht =R o ! DIGHL hs fRITATL
off |

(Th T WA & fotu Tt fashew &1 =99 difsw) 1
(A)  IE 3TEH, AR 9 Yeh bl Sfdeemcge =t
(B) WA o Taid 9 3mmd W fafesr wwifer
(C) ¥Rd ¥ IV fovd & AT g =mR
(D) et foarfer sfere
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17. Read the following text carefully :

Decisions taken by factors of production in the production process
often may affect the stakeholders indirectly. Such impacts at times are
huge but are not accounted for, while estimating national income.
Economists call them as externalities and they can be positive or

negative.

In this regard, many economists suggest carbon pricing as an

important tool to ensure ecological balance.

Carbon pricing tries to control greenhouse gas emissions by either
placing a fee on emitting or offering subsidies on lesser emission.
Through instruments like carbon tax, green cess, eco tax, etc. economists
suggest moving towards greener technology eliminating such negative

externalities.

On the basis of the given text and common understanding, answer the

following questions :

(1) Define externalities. 1

(i1))  Differentiate between positive and negative externalities. 2

(iii)  Elaborate how and why carbon pricing should be promoted. 3
SECTION B

Indian Economic Development

18. During the British rule, India’s foreign trade had various features except

(Choose the correct alternative to fill in the blank) 1
(A)  Restrictive policies of commodity production, trade and tariff
(B)  British monopoly over India’s exports and imports
(C)  Free trade from India to the rest of the world

(D) Large export surplus

12-58/2/1 Page 15 P.T.O.
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% RV FH o fig SHEe gfg @ @ fEha w0 § aem

73T A1 |
(Th T WA & ot Tt fashew &1 =@ difsw) 1
(A) 3% gar
(B) T Ry ifd
(C) W8M g ATEhideh ShIld
(D) fomiw arrfefen &=
MY fehIehtr Ueh Hewaqul 3TTfdfes foeiem 3ev 7, S T Hf5d 7 |

(Teh T A & forw @&t fompew 1 =gw difve) 1
i) el SEnfiehl i A
(i) T 9 HUd o uH foaao
(iii) | ST H FhRIcHS TR A

forepey
(A)  hdd (i) (B) (i) 3 (i)
(C) (1) R (i) (D) (), (ii) 3T (iid)

=S T gaaE dig AEifes o 1 Si€ 1978 # @] fhr T arifels guwt |
QIS ST Tehd! &, STal |
(TF T WA & fotu @&t fasheq &1 =@ difsw) 1

() IR¥ ¥ BN, faceht =mm g fow &= # gar 3% e e
i) et gou-fafor & fifq sraars g off
(i) TR A fomiy snfde &= &t fifq w1 © = fear o

ﬁ?@q :
(A)  <had (3) (B)  ohdd (ii)
(C) (i) 3 (i) (D) @), (i) 3 (iii)
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China was able to control its rapid population growth rate owing
to

(Choose the correct alternative to fill in the blank)
(A)  Economic reforms
(B)  One-Child Policy
(C)  Great Proletarian Cultural Revolution

(D)  Special Economic Zones

Modernization is an important economic planning objective that focuses

on

(Choose the correct alternative to fill in the blank)
(1) Adoption of innovative technology
(i1))  Equal distribution of income and wealth

(iii)  Bringing positive changes in the social outlook

Alternatives :
(A)  Only (1) (B) () and (ii)
(C) (1) and (ii1) (D) (1), (i1) and (ii1)

The present day rapid industrial growth in China can be traced back to
the economic reforms introduced in 1978, where

(Choose the correct alternative to fill in the blank)

(1) initially reforms were initiated in agriculture, foreign trade and

investment sectors
(ii)  the policy of dual pricing was adopted

(iii) the Government revoked the policy of Special Economic Zones

Alternatives :
(A)  Only (1) (B)  Only (ii)
(C) () and (i) (D) (1), (i1) and (i11)
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ST @ 9 gfg T | T gl @ |
(TF T w3 & foru @&t fashew &1 =am fifse) 1

(A) dRUiEh (B) S
(C) THMEMH® (D) & (Multi-layered)
frfeiRad el w1 SAHYE® TR T 1

FYT 1 ; R, ThEdH o = shl Hifceh Grame TUaaisti § dl bl AT
7, TTq 3! Teiifcreh saemd foespa fie § |

HYT2 : ANG 9 UIREIH QM1 4 Tk a8l el & faeshféa st T a1lee s
e am |

feu U oAt & Itedres 1, f=feifga # ° @& oo w1 w=w Fifve

(A) HIT 19T g 3N HYF 2 30A 7 |

(B) YT 13T IN FA 2T 2 |

(C) YT 1R 2gH TcF 7 |

(D) YT 1R 2 gH 3EH B |

HHa Ysit o < |l i 989 HIfT 9 fiwh T 9 % e 98t ok &
=¥ FifrT | 1

foren w

IEETE

(A) T WY foemaal 7y
(B) dhrileh W 9 JH T oI

(C) T WF 9 IH W

(D) O W T 9 TG |
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farming is a system that is helpful in restoring, maintaining
and enhancing the ecological balance.

(Choose the correct alternative to fill in the blank) 1
(A) Conventional (B) Organic
(C) Chemical (D) Multi-layered
Read the following statements carefully : 1

Statement 1: India, Pakistan and China have similar physical
endowments, but totally different political systems.

Statement 2 : Both India and Pakistan laid great emphasis on creating
a large private sector.

In the light of the given statements, choose the correct alternative from
the following :

(A) Statement 1 is true and Statement 2 is false.
(B) Statement 1 is false and Statement 2 is true.
(C) Both Statements 1 and 2 are true.
(D) Both Statements 1 and 2 are false.

Identify the sources of Human Capital Formation and choose the correct
alternative to fill in the blanks. 1

Expenditure
on Education

Expenditure
on
Information

on On-the-
job Training

Alternatives :

(A)  Expenditure on Health and Expenditure on Schools

(B)  Expenditure on Technology and Expenditure on Knowledge
(C)  Expenditure on Migration and Expenditure on Knowledge
(D)  Expenditure on Health and Expenditure on Migration
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HiaH 1§ U MU HfHehi o TR & Hicw 11 | U TT SRl i Tohid 61 aal
g SHIfT 1
HIcTH [ HieTH 11
1. | €5 &l gHM H1 ATt () | FrafE aqaarf
2. | fAwioT gy (i) | STeRiehes feaTet g
3. | fafaer srfvman (engineer) (111) - fnfaa
forepea -
(A)  1-(1); 2—({1); 3—(ii) (B)  1-(ii); 2—(1); 3—(iii)
(C)  1-(ii); 2—(ii); 3—(1) (D) 1-Gii); 2—(1); 3—(ii)
3Tfofeh GURT 1 AT L o IUUA, ITfehea o SR § foepd |
HET T ITIHT ThAT 7 |

(feh T wa & fore gt fasphed &1 =3m Fifse) 1
() 3N &3 # AfeRr veEH
) foewi @ fodwor w ercafees Fafean
(i) T Aferan

%IW‘? :

(A) (1) 3 (D) (B) (i) 3N (iii)

(©) (@), (i) 3R (iii) (D) (i) 3R (ii)
fafafaa et =1 ufew : stfirem (A) 3R wrwr (R) | = feu 7o fomedt #

o Tgt fashed T - 1
SYFHYT (A) : & o {1 §, IR 1efeTaee UTEH Tafg ht Tuen &1

T B |

HRU(R) :  UTTEH Tdfg & acad 8, T UHl feufa Sgf o srefeuasen
arfafes TR 3Scum fope fomm oaferss ageti SR Tansti o

IcqTed i H 9 g |
ooy
(A) IYH (A) 3 SR (R) HI T & 3TN SR (R), AMH (A)
&l ST KT 8 |

(B) 3MYheH (A) 3T RO (R) HI T &, Afehd SR (R), MHAT (A)
I T AT T w1 R |

(C) 3 (A) FcT ], Afehd R (R) TEH 7 |

(D) 3R (A) T 7, Afehd IO (R) T 3 |
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From the type of workers given in Column I, identify the correct nature of
work in Column II :

Column 1 Column I1
1. Cement shop owner (1) Regular salaried
2. Construction worker | (ii) | Casual wage workers
3. Civil engineer (ii1) | Self-employed
Alternatives :
(A)  1-(1); 2—(i); 3—(iii) (B)  1-(ii); 2—(1); 3—(iii)
(C)  1-(ib); 2—(11); 3—(1) (D) 1-(ii); 2—(1); 3—(ii)

After the implementation of economic reforms, Pakistan experienced
slowdown of growth due to various reasons including

(Choose the correct alternative to fill in the blank)
(1) Volatile performance of the agriculture sector
(i1)  Over-dependence on remittances from abroad

(iii)  Political instability

Alternatives :
(A) (1) and (ii) (B) (i) and (1i1)
(C) (), (11) and (1i1) (D) () and (iii)

Read the following statements : Assertion (A) and Reason (R). Choose the
correct alternative from those given below :

Assertion (A) : In the recent past, Indian economy has been facing the
problem of jobless growth.

Reason (R):  Jobless growth refers to a situation where an economy is
able to produce more goods and services without
generating additional employment.

Alternatives :

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of Assertion (A).

(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not
the correct explanation of Assertion (A).

(C) Assertion (A) is true, but Reason (R) is false.
(D)  Assertion (A) is false, but Reason (R) is true.
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28. (%) “TI9-HEEdl TE UM & H AIreR-ofides fowm % faw diewmsd
TGH L 8 |7
IY TSR0 o 1Y U 7T oM i gfee i | 3

HAAAT

(@) “9Rd &R 4, HY o yormet wr JEiv &l § odedl Icdred
Tfafafern o a1y Tfgd s & fIU S sheq 38w 1
FIT 39 feU MU hed § A § 2 3794 I & GHYA H hI < 9Y HA

AT | 3

29. feu wu fa hi =amEn HifST qun 3@ uiifeafas 3T9er 999 9 U o fow fond
Tsh WHIG Al e hifsy | 3

| i

12 : FEfcTRaa I Fact greaTiera aiemiefa & 1o7g Y97 G837 29 % T W a |

ofiy feht® & 3298 ol 1" A & fou fonedl @ wiHifaal o1 Seq@ hifsie |1 3
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28. (a) “Self-Help Groups provide stimulus to socio-economic development
in rural areas.”
Justify the given statement with valid explanation. 3
OR
(b)  “The Government of India has taken various measures to align the

agricultural marketing system with the growing production
activities in the rural areas.”
Do you agree with the given statement ? Give any two valid

reasons in support of your answer. 3

29. Interpret the given picture and explain any one strategy to control it from

becoming an ecological disaster. 3

Note: The following question is for the Visually Impaired Candidates
only, in lieu of Q. No. 29.

State any two strategies to achieve the objective of sustainable

development. 3
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30. (%) Toifesr oMEA & GRE 9™ HiN &%I 1 g 9 91 foheal el shiehl

&1 == hifvu | 4
AAAT
(@) 1991 % o7 ERI o SNF TR g IRW FRU U ot =aeen #
FUR & Fatad fopegl gl SgRIhT U™l 1 ==t i | 4

31. “forelt g o WA IS I 9 sriieek fohE o Wed gAToRe Weded gidl
%l’,

HIT SIS0 o6 |1y G T e i gfee hifsu | 4
32. = feu 7u ISl & YR W, YRd o 9 H IAET 9 UTIR & &R
gierdHl <t == hifvu 4

2018 — 2019 ¥ TR AR Thel Yo (A (%) & &F IR

o FHT JoF FeT 7 IrEH HIIIT HT AR
YRa | #7 | Tk | YRa | T | wileed
SN 16 7 24 43 26 41
ITM 30 41 19 25 28 24
qard 54 52 57 32 46 35
FA 100 | 100 100 100 | 100 100

HiT: T4 [91E RT12 2019 : TRET 37 I1afee & T9& d@ab, 2019

33. (%) 1) “Aftar w feht w1 0 fafia F=r & €9 0 wRE 8, I8 918
sftrep fogeh € 17

FT I8 TR/ & | $REd 8 ? 39 3T o 0 §

3 SR T | 2

(i) YA H SO & 3Tehal & fohegl 2 Eidl ol ool hIfST | 1

(iii) YRG § Afger fefm =1 Wicangd o <hl 3Tavdehdl i foarX ¥

T T | 3
JAAqT

@) () gl e < gan °@, g @ | snfde wfafafert @ @ i

WrftgrRT g 3Afeeh g1l 8 17

fou T sem Y gfee Hifer | 3
(i) Y=o SUSIT ol gierfeg shifu | foreft 291 & Icured 9 Uem @@
THoh THE] ol Iooid oY | 3
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30. (a) Discuss any two factors that lead to stagnating Indian agriculture
sector during British rule. 4
OR
(b)  Discuss any two liberalization measures pertaining to the tax
reforms, introduced by the government, during the economic
reform process of 1991. 4
31. “There exists a positive correlation between human capital formation and
economic growth of a nation.”
Justify the given statement with valid explanation. 4
32. On the basis of the data given below, discuss the shift in output and
employment sector-wise, in India and China : 4
Sectoral share of Employment and GVA (%) in 2018 - 2019
Sector Contribution to GVA Distribution of Workforce
India | China | Pakistan | India | China | Pakistan
Agriculture 16 7 24 43 26 41
Industry 30 41 19 25 28 24
Services 54 52 57 32 46 35
Total 100 100 100 100 100 100
Source : Human Development Report 2019 : Key Indicators of Asia and
Pacific, 2019
33. (a) @) “Amita is a regular worker in a private firm that employs
twelve hired workers.”
Is she working in the formal/informal sector ? Give valid
reasons in support of your answer. 2
(ii)  State any two sources of data on unemployment in India. 1
(iii) Elaborate the need to promote women’s education in India. 3
OR
(b) (1) “The participation rate of people in economic activities in
rural areas is more than that in urban areas.”
Justify the given statement. 3
(ii)  Define disguised unemployment. State its implications on
output and employment in a country. 3
12-58/2/1 Page 25 P.T.O.
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34.
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frfcTied @ o1 e TerE HINT
TAAAAT 3T WA hi s Hifd i geda: 1948 @ s Hifd ¥ehed &
el T YRR foam o | 3ud Ui fEa § SEnn & fash@ &l Wiedned o,
TRl S 9 TIAHd i o AW H GRSl g0 SR W o feam =
o | 394 A9 & % folu s Afsha a yq@ fieht i afehedar 61 T8 off |

AT fEnfer Hifd Wehed, 30 3T, 1956 H YU WAl g TES o THE TT
T AT | 39 Hehed H gIa T o foh, “USd 3ew¥ % ®U § orefeaEn
ATSIETE] &id ol 3TIAH o FY9-H1Y JioHTelg o i faehr 6l Arawehdr 2 |
$G% O g 319w g Tob YA 9 Aaieh T o Gt TN AaT Frasi-eh
39T BT Hresli-eh &7 o 3T 8 =118T |

I I S ATG-SATavash & a1 o s Tm W Ay i steavEehdr gt 3
(STt et TS & 9GH X Tohal 8), Ia Wl AT & o AfiT g1 =nfge |
AT TS ! ITI o Hiet foemm® o U goaet Serficd 78w & g |7

g Fehed TN I T4 AR | afiehd T &
o ST A H @ TE usel Aol W W@ 3T wiHa §, T wioss # fowa
s <1 foo e gnft |

o EQ Uft H, YT B H 9 39N fou ¢ § W IAUR TSH % EEiiied
B | graifes, 399 s Sgm @ ot wrfierd) <6 3efie < sra |

o Tt gvft 4 uw wft I W st TR B, e I o o T
& <l et 9 3TH W R B |

feu T e qen W wHE & YR W, Fefdfaa ae % 3w A

(i) “9Rd WeR 4, e faem & yriyes awi § sfenfies fowm o
TSl & o T St Yfiep W o fezm o |7

39 I THIT H BN <d g, 39 oA hl Yfed HIT |

(i)  frenfies fifd Tehed, 1956 o FATIR fafsa AT § 3TN o afiehtor
1 FI@T Jeqd i 3R ==t SIS |
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Read the following text carefully :

India’s industrial policy since independence has been shaped broadly in
terms of the Industrial Policy Resolution of 1948. It emphasized on the
sole responsibility of the government in the matter of promoting,
assisting and regulating the development of industries in the national
interest. It envisaged an active and dominant role of public sector.

The next Industrial Policy Resolution was placed before the Parliament
by the Prime Minister on 30t® April, 1956. It suggested that, “There is a
need for adoption of the socialist pattern of economy as the national
objective, along with the need for planned and rapid development. It
required that all industries of basic and strategic importance, or in public
utility services, should be in the public sector.

Other industries which are essential and require investment on a
massive scale (which only the State could provide) have also to be in the
public sector. Thus, the State has to assume direct responsibility for the
future development of industries.”

This Resolution classifies industries into three categories :

. The first category given in Schedule A, consists of industries the
future development of which will be the exclusive responsibility of
the State.

o In the second category given in Schedule B, are industries which

will be progressively State-owned. However, in them, private
enterprise will also be expected to participate.

o The third category comprises all the remaining industries, the
further development of which will be left to the initiative and
enterprise of the private sector.

On the basis of the given text and common understanding, answer the
following questions :

(1) “The Government of India, in the initial years of economic
development, emphasized on a greater role of the public sector in
the industrial development.”

Justify the statement, giving reasons in support of your answer.

(11)  Owutline and discuss the classification of industries into various
categories as per Industrial Policy Resolution, 1956.
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